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Errata

Second Printing

Chapter 2, page 61, Question 4 and 5

  
The last bit of the long binary has to be printed lowered (as in question 3)

        
...10112 - the 2 should be a subscript.

Chapter 3, page 72, Classful IP Addresses, third item

  
Reads:



If the first 2 bits of the first byte are 1, then 3 bytes are used ...

  
Should Read:
        

If the first 2 bits of the first byte are 1 and the next bit is 0, then 3 bytes are 
used ...

Chapter 3, page 73, second paragraph

  
Reads:



The entire range of Class A addresses is - 126.255.255.255 

  
Should read:
        

The entire range of Class A addresses is 1.0.0.0 - 126.255.255.255

Ending of Page 72 and beginning of Page 73

"Additionally, you want to reserve two addresses from the Class 

  
A address space.

         Address 0.0.0.X (where X can be any value from 0-255) is reserved."

 
 is correct I would expect 0.0.1.0 as starting address for a Class A 

 
 net.

  
This should correspond with Table 3-4, row for Address Class A.

Chapter 3, page 74, Classful IP Addresses, first and second rule
Reads:



If the first 2 bits of the first byte are 1, then 3 bytes are used ...

  
Should Read:
        

If the first 2 bits of the first byte are 1 and the next bit is 0, then 3 bytes are 


used ...

  Chapter 3, page 95,   Figure 3-19

  
3rd IP Address Mask reads:
       

255.255.255.0 (32-bit subnet mask)

Should Read:
       

255.255.255.0 (24-bit subnet mask)

  Chapter 3, page 101, within the last paragraph 
Reads:

"The networks addresses are" I suggest a greater spacing between the binaries and the decimal notated network addresses. This would increase readability.  00000000 =  0 156.26.63.0/28 ...

  

Should read:
       


00000000 =  0   156.26.63.0/28

    Chapter 3, page 116, third item

  
Reads:
        

1A23:120B:0:0:124::4D, but not buy

Should read: 

  

1A23:120B:0:0:1234::4D, but not buy

Chapter 4, page 126, 4th paragraph

Reads:

172. 16.    1. 1 32-bit IP address

        

255.255.255.0 24-bit subnet mask

        

172.16.     1.0 IP prefix or network part of the IP address

 
Should read:
        

172. 16.  1.  1   32-bit IP address

        

255.255.255.  0   24-bit subnet mask

        

172. 16.  1.  0   IP prefix or network part of the IP address

Chapter 4, page 126 and page 127, Figure 4-2

  
The connection between Router A and Router B should be labeled with 

 
 the corresponding network (as the other networks).

         

Network 172.16.4.0/24

 Chapter 4, page 140, Figure 4-5

The connection between Router C and Router B should be labeled with the corresponding network (as the other networks shown). 

  
        5.0/24

  Chapter 4, page 140, Figure 4-7 in relation to the first paragraph

  
Reads:

"The path from router B to Network 1 has hop count of two; but the bandwidth from A to B to C is greater than the bandwidth from A to C."

 
Should read:
     

The path though router B to Network 1 has a hop count of two;
Chapter 5, page 176, Example 5-5

Reads:
        

Router C

        

...

        

network 55.0.0.0

  
Could also read:
        

Router C

       

 ...

        

network 55.1.2.0 255.255.255.0

Either way is correct.

  Chapter 5, page 180, Table 5-1

 
Reads:
        

172.16.9.0   D   2560   7680

  
Should read:
        

172.16.9.0   D   2560  10240

Appendix A, page 370, Chapter 2

The last bit of the long binary has to be printed lowered (as in question 3) 4. Convert ...10112 to dotted decimal.

        

5. Convert ...10112 to octal.

2 should be a subscript
Appendix A, page 371-372, Chapter 3

  
Reads:
        

132.0.0.0/8 Serial 0

        

132.16.0.0/11 Ethernet 1

        

132.16.233.0/22 Ethernet 2

  
Should Read:
        

132.0.0.0/8     Serial 0

        

132.16.0.0/11   Ethernet 1

        

132.16.233.0/22 Ethernet 2

  Appendix A, page 373, Chapter 4, Figure 4-15
  
Reads:

172.16.0.0/24 is not advertised; the subnet mask does not match the subnet mask on the serial interface.

 
Should read:
172.16.0.0/28 is not advertised; the subnet mask on the serial interface (/24).

